

Quezon City Government



2108074

Purchase Order Date:

SEP 1 7 2021

Procuring Unit

: QUEZON CITY INFORMATION TECHNOLOGY

DEVELOPMENT DEPARTMENT

, PR Number

:GF-21-06-00294

Company Name

: WIRELESS LINK TECHNOLOGIES, INC.

Mode of

:Public Bidding

Address

Procurement Resolution No.

:21-PB-204

: 544 Florentino Torres St., Sta. Cruz, Manila

TIN Number

:007-312-019-000

Business Type

: Corporation Registration #CS200908839

Contact Number

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: CGSD Central Warehouse

Delivery Schedule: Sixty (60) Calendar Days

Payment Term:

Credit

Stock No.	Item	Unit of Issue	QTY	Unit Cost	Amount
	Passive SFP Module Cable Fiber Type; Single Mode				
	Item Length;10m				
	Product name: 10M SFP + 10Gb DAC Cable				
	Application: Switch / router / HBA / SAN, NIC card, (Data Center) Length: IO				
	Connector: SFP + to SFP +				
	Data Rate: 10G				
	Fully compatible with Cisco, Huawei. Dell, Mikrotik			1	
24	Fiber Patch Cord Duplex 10G SC-LC Fiber Patch Cord, Duplex 10G Om4, 3M, MM	piece	2	4,080.00	8,160.00
25	Fiber Patch Cord Duplex Singlemode SC-LC Fiber Patch Cord, Duplex Singlemode, 3M	piece	4	4,340.00	17,360.00
26	Wifi Access Point Controller - Ubiquiti 100% compatible with the existing network infrastructure of QC HALL Compound	piece	1	37,260.00	37,260.00
27	Router - Mikrotik Rackmount, 7x Gigabit Ethernet, 1x Combo port (SFP or Gigabit Ethernet), 1xSFP+ cage, 9 cores x 1.2GHz CPU, 2GB RAM, LCD panel. Dual Power supplies, SmartCard slot	piece	3	35,350.00	106,050.00
	Nothing Follows				

15,969,900.00

Total Amount In Words (Pesos):

Fifteen Million Nine Hundred Sixty-Nine Thousand Nine Hundred Pesos Only

MA. JOSEFIÑA G. BELIMONTE City Mayor

Signature Over Printed Name of Supplier / Date

Funds Available:

RUBY G. MANANGU



OBR: 100-2021-08-08618

PR Amount:



Quezon City Government



2108074

Purchase Order Date:

SEP 1 7 2021

Procuring Unit

: QUEZON CITY INFORMATION TECHNOLOGY

DEVELOPMENT DEPARTMENT

PR Number

:GF-21-06-00294

Company Name

: WIRELESS LINK TECHNOLOGIES, INC.

Mode of Procurement ;Public Bidding

Address

: 544 Florentino Torres St., Sta. Cruz, Manila

Resolution No.

:21-PB-204

TIN Number

:007-312-019-000

Business Type

: Corporation Registration #CS200908839

Contact Number :

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: CGSD Central Warehouse

Delivery Schedule: Sixty (60) Calendar Days

Payment Term:

Credit

Stock No.	Item	Unit of Issue	QTY	Unit Cost	Amount
1	LAPTOP - 9TH GEN INTEL CORE i7 9750 Processor - Dell 9th Generation Intel® Core™ i7-9750H Processor or its equivalent benchmark -processor Licensed Windows 10 Professional (64bit); 8GB. DDR4. 2666MHz (8X1): 256GB M.2 PCIe NVMe Solid State Drive: 3GB Gddr 5 graphics memory:: 15.6-inch FHD (1920 x 1080) Anti-glare LED-Backlit Display NON TOUCH WIDE VIEWING ANGLE: FINGER PRINT READER. English Backlit Keyboard Spill resistant, backlit, with I0-key numeric keypad Briefcase 15: 56WHr, 3-Cell Battery (Integrated):: 1 HDMI 2.0 out: 3 USB 3.1 Gen 1; 1 Thunderbolt™ 3 (DP/Power Delivery) Type-C™: 1 Power (4.5mm barrel): 1 Micro SD Media Card Reader (SD, SDHC, SDXC): HD Camera (720p): Stereo Speakers: Integrated Dual Array Microphones 3.5mm Headphone/Microphone combination jack: 802.11ac 2x2 WiFi and Bluetooth 5.0: 1 yr Warranty & Support: Onsite Service; Branded:	set	2	87,950.00	175,900.00
2	DESKTOP PC - i9-9900K - 64gb RAM 21" Monitor (High End) - Dell Processor - Intel i9 9900 K or its equivalent benchmark processor"; Memory - 64 GB DDR4 2400Mhz; Storage: 2 Terabyte 7200RPM 3.5inch SATA HDD or higher + 256GB M.2 SATA SSD; Videocard Graphics 2GB or higher: DVD RW; 21" Monitor [same model); I/O Front 1 x USB 3.1 Gen 1 Type C / 1 x USB 3.1 Gen 1 Type A / 1 x USB 2.0; I/O Rear 1 x HDMI, 1 x RJ45. 5 x Audio Connector; Full Keys Keyboard - same brand; Optical Mouse - same brand; Power Protection - UPS - APC 650VA 220V; Genuine Windows 10 Professional 64 bit, Warranty one (1) year on Parts and Services.	set	2	189,040.00	378,080.00

MA. JOSEFIÑĂ G. BELMONTE City Mayor

Signature Over Printed Name of Supplier / Date

OBR: 100-2021-08-08618

Funds Available:

RUBY G. MANANGU City Accountant

PR Amount:



Quezon City Government



PO Number

Purchase Order Date:

Procuring Unit

: QUEZON CITY INFORMATION TECHNOLOGY

DEVELOPMENT DEPARTMENT

PR Number

:GF-21-06-00294

Company Name

: WIRELESS LINK TECHNOLOGIES, INC.

Mode of Procurement Public Bidding

Address

; 544 Florentino Torres St., Sta. Cruz, Manila

Resolution No.

:21-PB-204

TIN Number

:007-312-019-000

Business Type

: Corporation Registration #CS200908839

Contact Number :

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: CGSD Central Warehouse

Delivery Schedule: Sixty (60) Calendar Days

Payment Term:

Credit

Stock No.	Item	Unit of Issue	QTY	Unit Cost	Amount
3	Wide Format All-in-One Printer - HP	unit	2	1,510.00	3,020.00
	Print Speed Black			0.0000000000000000000000000000000000000	11 to 12
	ISO Laser comparable. Professional Mode: Up to 22 ppm. General Office Mode: Up				
	to 34 ppm: PRINT SPEED COLOR				
	ISO Laser comparable. Professional Mode: Up to 18 ppm. General				
	Office Mode: Up				
	to 34 ppm: FIRST PAGE OUT (READY)				
	Black: As fast as 9 sec				
	PRINT QUALITY BLACK (BEST)		1 1		
	Black: Up to 1200 x 1200 rendered dpi Color: Up to 4800 by 1200				
	optimized dpi on				
	Advance Photo Paper 1200 by 1200 dpi input				
	DUTY CYCLE (MONTHLY; A4)		1 1		
	Up to 30,000 pages; PRINT QUALITY COLOR (BEST)				
	Up to 4800 by 1200 optimized dpi on Advance Photo Paper 1200 by				
	1200 dpi input				
	PRINT TECHNOLOGY				
	Thermal Inkjet			1	
	PRINTER DRIVERS INCLUDED; WIRELESS CAPABILITY: built-in WiFi			1	
	802.11 b/g/n				
	CONNECTIVITY, STANDARD				
	1 USB 2.0 with compatibility with USB 3.0 devices: 1 Host USB: 1				
	Ethernet: 1 Wireless				
	802.11 b/g/n; 2 RJ-11 modem ports: WHAT'S IN THE BOX		1 1		
	Wide Format All-in-One Printer: Black Ink Cartridge (-1000 pages):				
	CMY Ink				
	Cartridge (-540 pages); Regulatory Flyer; Power cord: Setup poster:				
0	Getting started				
	guide: CABLE INCLUDED: 1.5 m (USB) cable; MEMORY CARD COMPATIBILITY				

MA. JOSEFINA G. BELIMONTE City Mayor

Signature Over Printed Name of Supplier / Date

Funds Available:

RUBY G. MANANGU City Accountants

OBR: 100-2021-08-08618

PR Amount:



PO Number

Purchase Order Date: SEP 17 2021

Procuring Unit

: QUEZON CITY INFORMATION TECHNOLOGY

DEVELOPMENT DEPARTMENT

PR Number

:GF-21-06-00294

Company Name

: WIRELESS LINK TECHNOLOGIES, INC.

Mode of

:Public Bidding

Address

Procurement Resolution No.

:21-PB-204

; 544 Florentino Torres St., Sta. Cruz, Manila

TIN Number

:007-312-019-000

Business Type

: Corporation Registration #CS200908839

Contact Number :

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: CGSD Central Warehouse

Delivery Schedule: Sixty (60) Calendar Days

Payment Term:

Credit

Stock No.	Item	Unit of Issue	QTY	Unit Cost	Amount
6	MEMORY UPGRADE FOR LENOVO SYSTEMS X3850 X6 (6241) - Lenovo 16GB TruDDR4 Memory (2Rx4, 1.2V); PC4-19200 CL1 7 2400 MHZ LP RDIMM WITH ECC	piece	8	15,480.00	123,840.00
7	5 CO UNIVERSAL SURGE PROTECTOR - Orico 4 Universal Outlet Surge Protector 5 USB Super Charging Station (White)	piece	5	1,750.00	8,750.00
8	48Ports Layer 3 Switch with 2x 10GB Uplink with stacking cable - Cisco 4GB Ports high availability switch with 2Ports 10GB Uplink Switching capacity 176Gbps on 48-port models: 88 Gbps on 24-ports model: Stacking bandwidth: 480 Gbps Total Number of MAC addresses: 32000: Total Number of IPv4 routes (ARP plus learned routes]: 2400: FNF entries: 24,000 flows on: DRAM: 4 Gb: Flash: 2Gb: VLAN Ids 4000 Total Switched virtual interfaces (SVIs): 1000: Jumbo Frame: 9198 bytes total Routed ports per 3850 stacks: 208	unit	1	593,550.00	593,550.0d
9	24Ports x 10GB slots with 2x 40GB Uplink 100 % compatible with the existing network infrastructure of QC HALL Compound) - Mikrotik Switch Layer 3 - 24SFP/SFP+ - 1G/10G- IP Base - Wireless controller managed -stackable There are 24 x 10/100/1000 10G SFP+ Optical ports on the front panel. The switch supports on hot swappable network module that provides uplink ports to connect with either a network module or a blank module installed Rackmount: 1 RU: Feature Set: IP Base: "Network SFP uplink module selection :10G: 40G": Ports: 24 x 10/100/1000 10G SFP+ Optical ports: Maximum stacking number: 9: Stack Bandwidth: 480 Gbpbs RAM: 4GB: Flash Memory: 4GB	unit	1	1,747,190.00	1,747,190.00

MA. JOSEFINA G. BELMONTE City Mayor,

Signature Over Printed Name of Supplier / Date

Funds Available:

RUBY G. MANANGU

City Accountant

OBR: 100-2021-08-08618

PR Amount:





PO Number

Purchase Order Date:

SEP 1 7 2021

Procuring Unit

: QUEZON CITY INFORMATION TECHNOLOGY

DEVELOPMENT DEPARTMENT

PR Number

:GF-21-06-00294

Company Name

: WIRELESS LINK TECHNOLOGIES, INC.

Mode of Procurement

:Public Bidding

Address

; 544 Florentino Torres St., Sta. Cruz, Manila

Resolution No.

:21-PB-204

TIN Number

:007-312-019-000

Business Type

: Corporation Registration #CS200908839

Contact Number :

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: CGSD Central Warehouse

Delivery Schedule: Sixty (60) Calendar Days

Payment Term:

Credit

Stock No.	Item	Unit of Issue	QTY	Unit Cost	Amount
4	Support Thumb Drive MEMORY. STANDARD: 512 MB MAXIMUM MEMORY: 512 MB PAPER HANDLING INPUT, STANDARD 250-sheet input tray. 250-sheet plain paper tray, PAPER HANDLING OUTPUT, STANDARD 75-sheet output tray DUPLEX PRINTING: Automatic MAXIMUM INPUT CAPACITY (ENVELOPES) Up to 30: BORDERLESS PRINTING: Yes (up to A3/11 x 17-in : MEDIA SIZES SUPPORTED: A4; A5; A6: B5 (JIS): Envelope (DL, C5, C6, Chou #3, Chou #4); Card (Hagaki, Ofuku Hagaki): A3: HUB - USB - Type C HUB with 4K HDMI, 1080P VGA, USB 3.0, USB C PD Charging 4K HDMI Output: Supports video resolution of up to 4K at 30Hz. 1080P@601-Hz. 1080P WGA Output: Supports video resolution up to 1080P@60Hz. USB C PD Charging Port: Supports 87W fast charging speed for your type-c devices. NOT support data transfer. (Use the original power adapter of your device to charge your device via the USB-C Power Delivery Port on this hub.) USB 3.0 Port: supports data transfer rates of up to 5 Gbps. Plug and Play; Hot swappable. No need to install drivers. Support Mirror & Extend Dual Mode: Mirror and Extend Mode	unit	7	1,510.00	10,570.00
5	Settings (Note: Mirror or extend mode, both two monitors are identical but different with laptop's screen.) Rj45 Crimping Pliers Manual Network Tool (Pass Thru) For pass thru R45 Connectors	piece	3	1,300.00	3,900.00

MA. JOSEFINA G. BEUMONTE City Mayor

Signature Over Printed Name of Supplier / Date

Funds Available:

RÚBY G. MANANGU City Accountant

OBR: 100-2021-08-08618

PR Amount:



Quezon City Government



PO Number

Purchase Order Date:

Procuring Unit

: QUEZON CITY INFORMATION TECHNOLOGY

DEVELOPMENT DEPARTMENT

PR Number

:GF-21-06-00294

Company Name

: WIRELESS LINK TECHNOLOGIES, INC.

Mode of

;Public Bidding

Address

: 544 Florentino Torres St., Sta. Cruz, Manila

Procurement Resolution No.

:21-PB-204

TIN Number

;007-312-019-000

Business Type

: Corporation Registration #CS200908839

Contact Number

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: CGSD Central Warehouse

Delivery Schedule: Sixty (60) Calendar Days

Payment Term:

Credit

Stock No.	Item	Unit of Issue	QTY	Unit Cost	Amount
10	10GB Fiber Transceiver, Long Range - Ubiquiti 10GB Fiber Module Transceiver for Single Mode Fiber	unit	4	1,480.00	5,920.00
11	RACK CABINET TRAY Server rack tray; Powder coated. Black; Used to accommodate small and non-rack mountable devices such as small routers and modems.	piece	3	3,610.00	10,830.00
12	5 inches 5m 4-in-1 TVI AHD CVI CVBS CCTV Security Camera Tester The new HD coaxial tester is developed for the on-site installation and maintenance of HD coaxial camera, having TVI, AHD, CVI. It also provides many useful functions, such as video display, PTZ control, DC12V output power, audio test, image generator, VGA video signal input, HDMI1.0 signal input, RS485 data searching, cable testing, LED lamp etc.	piece	3	5,360.00	16,080.00
13	Digital Fiberscope Fiberscope features: Ergonomic, hand-held design enables single-handed operation: Up to 400x magnification with fast, easy focus and display capture: Video output via USB port Powered from USB: no batteries required Extensive assortment of interchangeable fiber connector and bulkhead adaptor tips. Adapter tips easily removed and installed: SimpleView software allows to be used with Windows PC or laptop Applications: Ideal for Telco, Broadband, and Enterprise applications; Optical connector and bulkhead adapter inspection: Display and analyze fiber end-face quality on M-series OTDR, C- series Tester, or PC: Visually inspect fiber ends for damage or contamination impairing optical transmission; Generate installation inspection records, associating captured digital photo with fiber ID- 100% compatible with existing equipment	unit	2	76,480.00	152,960.00
100,000,000	External DVD Writer External DVD Writer, CD DVD Burner Drive Writer Player:	piece	2	2,130.00	4,260.00

MA. JOSEFINA G. BELMONTE City Mayor,

Signature Over Printed Name of Supplier / Date

Funds Available:

RÚBY G. MANANGU City Accountant

OBR:100-2021-08-08618

PR Amount:



PO Number

Purchase Order

Procuring Unit

: QUEZON CITY INFORMATION TECHNOLOGY

DEVELOPMENT DEPARTMENT

PR Number

:GF-21-06-00294

Company Name

: WIRELESS LINK TECHNOLOGIES, INC.

Mode of

:Public Bidding

Address

: 544 Florentino Torres St., Sta. Cruz, Manila

Procurement Resolution No.

:21-PB-204

TIN Number

:007-312-019-000

Business Type

: Corporation Registration #CS200908839

Contact Number :

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: CGSD Central Warehouse

Delivery Schedule: Sixty (60) Calendar Days

Payment Term:

Credit

Stock No.	Item	Unit of Issue	QTY	Unit Cost	Amount
	Interface USB				
53011	3.0 or later				
15	Access Point - Ubiquiti	unit	26	14,950.00	388,700.00
	Environment: Indoor/Outdoor				
	Simultaneous Dual-Band:				
	2.4 GHz Radio Rate: 450 Mbps				
	2.4 GHz MIMO; 3x3				
	5 GHz Radio Rate: 1300 Mbps				
	5 GHz MIMO: 3x3				
	PoE Mode: 802.3af PoE 802.3at PoE+				
	Ceiling Mount:				
	Wall Mount:				
	Wireless Uplink:				
	DPS Certification:				
16	PoE Injector 48VDC 24W Power over Ethernet Adapters - Ubiquiti	unit	26	1,270.00	33,020.00
	100 percent compatibility with existing access point in QC main				
	building (High Rise)				
17	Gbic SFP – Multimode - Cisco	unit	4	5,410.00	21,640.00
	GLC-SX-MM 1000Base-SX SFP Fiber LC MINI-GBIC - Cisco Compliant:	1,190,000		5,120.00	21,040.00
	Product details of GLC-SX-MM I000Base-SX SFP Fiber LC M1N1-				
	GBIC - Cisco Compliant				
	GLC-SX-MM I000Base-SX SFP Fiber LC MINI-GBIC - Cisco Compliant				
	Easy-Open Plastic Bag-SFP1.25G Multimode Fiber				
	Easy-Open Plastic Bag-SFP1.25G Singlemode Fiber				
	Easy-Open Plastic Bag-SFP+10G Multimode Fiber (10Product				
	Description GLC-SX-MM				
	1000Base-SX SFP Fiber LC MINI-GBIC. Third party, 100%Cisco				
	Compliant				
	Feature 1000BASE-SX Fiber Transceiver: Multimode Fiber (50/125,				
	62.5/125): 850nm frequency: Up to 550M range;				
			1		1

MA. JOSEFINA G. BELMONTE

Signature Over Printed Name of Supplier / Date

Funds Available:

RUBY G. MANANGU City Accountant

OBR: 100-2021-08-08618

PR Amount:





PO Number

108074

Purchase Order Date:

SEP 1 7 2021

Procuring Unit

: QUEZON CITY INFORMATION TECHNOLOGY

DEVELOPMENT DEPARTMENT

PR Number

:GF-21-06-00294

Company Name

: WIRELESS LINK TECHNOLOGIES, INC.

Mode of Procurement :Public Bidding

Address

Resolution No.

:21-PB-204

: 544 Florentino Torres St., Sta. Cruz, Manila

TIN Number

:007-312-019-000

Business Type

: Corporation Registration #CS200908839

Contact Number

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery : CGSD Central Warehouse

Delivery Schedule : Sixty (60) Calendar Days

Payment Term:

Stock No.	Item	Unit of Issue	QTY	Unit Cost	Amount
18	LC Connector, (DDM SUPPORT) Brand: Ultra Spec Cables; Item model num: GLC-SX-MM-USC: MPN(PartNumber); glc-sx-mm-usc; EAN; 7123290438452: Product Dimensions (LxWxH): 3x3x3cm; 136g: Package Dimensions (LxWxH): 23x17x1cm: 136g Tester RJ45 PING/POE RJ11 LAN Network Cable Tester Wire Tracker	unit	4	7,720.00	30,880.00
	Features specifications: 1. PoE/PING testing. 2.Trace targeted cable among lots of unknown cables 3.Locale faults for RJ11 /RJ45/BNC Cable 4.Measure cable length accurately 5. Voltage detecting function. 6. 8 remotes included, improving work efficiency. 7. Memory and storage function, export or upload the data from PC. 8. Built-in Lithium battery and color screen LCD	n PC.			
	Uninterruptible Power Supply (UPS) Device 1500VA 230V - APC UPS 1500, 230V uninterruptible power supply (UPS), offers guaranteed power protection for connected electronics. When power is interrupted, or fluctuates outside safe levels, a UPS will instantly provide clean battery backup Output Power Capacity 865 Watts / 1500 VA; Max Configurable Power 865 Watts / 1500 VA: Nominal	unit	3	71,530.00	214,590.00
20	Output Voltage 230V: Output Frequency 50/60HZ +/- 3 Hz DESKTOP Workstation - Xeon Processor 128gb Memory - Dell No Operating System Intel Xeon Server 4114 2.2G, 10C/20T 14M Cache, Turbo, HT (85W) DDR4 2400: 128GB	set	3	285,280.00	855,840.00

MA. JOSEPÍNA G. BELMONTE City Mayor

Signature Over Printed Name of Supplier / Date

OBR: 100-2021-08-08618

Funds Available:

RUBY G. MANANGU City Accountant,

PR Amount:



Quezon City Government



PO Number 2108074

Purchase Order Date:

SEP 1 7 2021

Procuring Unit

: QUEZON CITY INFORMATION TECHNOLOGY

DEVELOPMENT DEPARTMENT

PR Number

:GF-21-06-00294

Company Name

: WIRELESS LINK TECHNOLOGIES, INC.

Mode of

:Public Bidding

Address

Procurement

:21-PB-204

: 544 Florentino Torres St., Sta. Cruz, Manila

Resolution No. TIN Number

:007-312-019-000

Business Type

: Corporation Registration #CS200908839

Contact Number :

Sir/Madam:

Please furnish this office the following articles subject to the terms and conditions contained here:

Place of Delivery: CGSD Central Warehouse

Delivery Schedule: Sixty (60) Calendar Days

Payment Term : Credit

Stack No.	Item	Unit of Issue	QTY	Unit Cost	Amount
	RDIMM, 2666MT/s, Single Rank (16 DIMM Slots): Dual-Port 1 GbE				
	On-Board LOM RAID Controller, Adapter, Full Height: 2TB 7.2K RPM SATA				
	6Gbps 512n 2.5in Hot-plug Hard Drive, 3.5in (max 8 HDD): DVD+/-				
	RW, SATA, Internal: Single, Hot-plug Power Supply (1+0), 495W, Enterprise: Tower: 3Yr ProSupport: Next Business Day				
	Onsite Service:				
	Optical Mouse (Same Brand): Wired Keyboard, mouse and Monitor (19" or bigger) (Same Brand)				
21	SERVER - 512 ECC RAM 20TB HDD RACKMOUNTABLE - Dell	set	2	777,830.00	1,555,660.00
	Dual Xeon 12-core processor 512GB ECC RAM 20TB HDD Dual Core Supply:				
	Rack Mountable 2x 1000 Mbit LAN ports: Same Brand monitor 15- inch display:				
	Same Brand optical mouse (USB): Same Brand 101 Keyboard (USB) UPS 2200 VA- intelligent UPS : 3 Years Full warranty				
22	2U RACKMOUNT SERVER - 30TB HD 2TB MEMORY - Dell	unit	1	9,423,290.00	9,423,290.00
	2U Rack Server Processor: 4x 24Core Xeon® Platinum 8160 2.1Ghz Memory; 2TB (minimum): 2666MHz DIMMs				
	Internal Storage; 30TB Usable Storage: Up to 16x 2.5 -inch storage				
	bays supporting SAS/SATA HDD and SSDs or up to 8x 2.5-inch NVMe SSD: plus up to 2x mirrored M.2				
	boot: Network Interface: Multiple options with 1GbE, l0GbE, 25GbE, 32GbE, 40GbE				
	or InfiniBand PCIe adapters: one (2-/4-port) 1GbE or IOGbE LOM card				
	Power Supply: 2x 1100W AC 80 PLUS Platinum				
	Limited Warranty: 3-year customer replaceable unit and onsite service, next business				
	day 9x5, opt. service upgrades				
23	10M SFP 10Gb DAC Copper Twinax Passive SFP Direct	uniț	10	4,260.00	42,600.00
			1	E	

MA. JOSEFINA G. BELMONTE City Mayor

Signature Over Printed Name of Supplier / Date

Funds Available:

RUBY G. MANANGU City Accountant Con

OBR: 100 - 2021 - 08 - 08618

PR Amount:

TERMS AND CONDITIONS

- ALL PRICES INDICATED HEREIN ARE VALID, BINDING AND EFFECTIVE AT LEAST WITHIN THIRTY (30) CALENDAR DAYS FROM DATE OF RECEIPT.
- AWARDEE shall be responsible for the source(s) of its supplies/materials/equipment and shall make deliveries in accordance
 with the schedule, quality and specification of the award and purchase order. Failure by the AWARDEE to comply with the
 same shall be a ground for cancellation of the award and purchase order issued to that AWARDEE and for re-awarding the
 item(s) to the ALTERNATE AWARDEE.
- 3. AWARDEE shall pick up purchase order(s) issued in its favor within three (3) days after receipt of notice to that effect. A telephone call, fax transmission or electronic mail (e-mail) shall constitute an official notice to the AWARDEE. Thereafter, if the purchase order(s) remains unclaimed, the said purchase order(s) shall be sent by mailing or courier, messengerial service to the AWARDEE. To avoid delay in the delivery of the requesting end-user's requirement, all DEFAULTING AWARDEES shall be precluded from proposing or submitting a substitute sample.
- 4. Subject to the provisions of the preceding paragraph, where AWARDEE has accepted a purchase order but fails to deliver the required product(s) within the time called for in the same order, the delivery period may be extended a maximum of fifteen (15) calendar days under liquidated damages to make good the delivery. Thereafter, if AWARDEE has not completed the
- 5. delivery within the extended period, the subject purchase order shall be cancelled and the award for the undelivered balance, withdrawn from that AWARDEE. The BAC Goods and Services shall then purchase the required item(s) from such other source(s) as it may determine, with the difference in price to be charged against the DEFAULTING AWARDEE. Refusal by the DEFAULTING AWARDEE to shoulder the price difference shall be ground for its disqualification from future bids of the same items, without prejudice to the imposition of other sanction as prescribed under RA 9184 and its RIRR.
- 6. When the supplier fails to satisfactorily deliver goods/services under the contract within the specified delivery schedule, inclusive of duly granted time extensions, if any, the supplier shall be liable for damages for the delay and shall pay the procuring entity liquidated damages, not by way of penalty, an amount equal to one-tenth (1/10) of one percent (1%) of the cost of the delayed goods/services scheduled for delivery for everyday of delay until such goods/services are finally delivered and accepted by the procuring entity concerned.
- 7. Rejected deliveries shall be construed as non-delivery of product(s)/item(s) so ordered and shall be subject to liquidated damages, subject to the terms and conditions prescribed under paragraph 4 hereof.
- 8. Supplier shall guarantee its deliveries to be free from defects. Any defective item(s)/product(s), therefore that maybe discovered by the Quezon City Government within three (3) months after acceptance of the same, shall be replaced by the supplier within seven (7) calendar days upon receipt of a written notice to that effect.
- 9. All duties, excise and other taxes and revenue charges, if any, shall be for the supplier's account.
- 10. As a pre-condition to payment, IMPORTANT DOCUMENTS specifically showing the condition and serial numbers of the imported equipment purchased should be submitted by the supplier to the *Quezon City Government*.
- 11. All transactions are subject to applicable withholding taxes in accordance with existing BIR rules and regulations.
- 12. Supplier shall furnish the End-user through the City General Services Department stockroom, the articles, described above;
- 13. The Quezon City Government reserves the right to accept or reject delivered articles if found not in conformity to the specifications, terms and conditions stipulated.
- Provisions contained in Title VI, Book IV of the Civil Code of the Philippines on Sales are hereby incorporated and made as an Integral part hereof.

CED 2.2 0004
15. This contract shall also serve as Notice to Proceed, to take effect on and to expire on and to expire on
CONFORME:
MILLIE TO THE METHOD OF 22-21
SIGNATURE OVER PRINTED NAME IN THE CAPACITY OF DATE
Duly authorized to sign this Purchase Order for and on behalf of WIREWES UNK TECHNOLOGIES, INC. COMPANY NAME
SUBSCRIBED AND SWORN to before me this day of at Philippines. Affiant personally known to me and were identified by me through competent evidence of identity as defined in the 2004 Rules on Notarial Practice (A.M. No. 02).
8-13-SC). Affiants exhibited to me his/her with his/her photograph and signature appearing thereo with No.
Doc. No
Page No.
Book No
Series of

